

MASTRUP BAWADYINSOLA MERCY

S/ENG061032

MECHANICAL ENGINEERING

ENR 381

ASSIGNMENT #3

$$y = e^{x^2+x}$$

$$v=1 \quad v'=0$$

$$u = e^{x^2+x} \quad u^n = (2x+1)^n e^{x^2+x}$$

$$y = u^n \cdot v^0$$

$$y^n = (2x+1)^n e^{x^2+x} \cdot 1$$

$$y' = (2x+1)' e^{x^2+x}$$

$$v = 2x+1, \quad v' = 2 \quad v'' = 0 \quad (\text{from } y')$$

$$y^n = (2x+1)^n e^{x^2+x}$$

$$y'' = u^n v'' + n u^{n-1} v' + 0$$

$$= (2x+1)' e^{x^2+x} \cdot 2x+1 + n(2x+1)^{n-1} e^{x^2+x} \cdot 2 + 0$$

$$= (2x+1)' e^{x^2+x} \cdot (2x+1) + 1 (2x+1)^n e^{x^2+x} \cdot 2$$

$$\text{Recall } (2x+1)' e^{x^2+x} = y'$$

$$e^{x^2+x} = y$$

$$y'' = y' (2x+1) + 2y$$

$$\text{Put } y^{(n+2)} = (2x+1) y^{(n+1)} + 2(n+1) y^n$$

$$\text{where } w = y''$$

from M above;

$$y'' - y' (2x+1) - 2y = 0$$

$$v = 1 \quad v' = 0$$

$$u = y'' \quad u^n = y^{(n+2)}$$

$$\rightarrow w^n = v^n \cdot u + 0$$

$$w^n = y^{(n+2)}$$

$$w^n = \underline{y^{(n+2)}}$$

$$\rightarrow \text{where } w^n = (2x+1)y$$

$$v = 2x+1 \quad v' = 2 \quad v'' = 0$$

$$u = y \quad u^n = y^{(n+1)}$$

$$W^n = u^n v^n + n u^{(n-1)} v'$$

$$w^n = y^{(n+1)} (2x+1) + n y^n \cdot 2$$

$$\text{where } w^n = 2y$$

$$v = 2 \quad v' = 0$$

$$u = y \quad u^n = y^n$$

$$W^n = u^n v^n$$

$$= y^n \cdot 2$$

$$= 2y^n$$

$$\therefore y^n = y^{(n+2)} - [y^{(n+1)} (2x+1) + n 2y^n] - [2y^n] = 0$$

$$y^{(n+2)} = y^{(n+1)} (2x+1) + n 2y^n + 2y^n$$

$$y^{(n+2)} = (2x+1) y^{(n+1)} + 2y^n (n+1)$$

2

$y = 2^3 e^{4x}$  determine  $y^{(5)}$

Soln:

$$y = e^{4x}$$

$$y^n = 4^n e^{4x}$$

$$y = x^3, \quad v' = 3x^2, \quad v'' = 6x, \quad v''' = 6, \quad v^{(4)} = 0$$

$$y^n = u^n \cdot v + n u^{(n-1)} v' + \frac{n(n-1)}{2!} u^{(n-2)} v'' + \frac{n(n-1)(n-2)}{3!} u^{(n-3)} v''' + \dots$$

$$n(n-1)(n-2)(n-3) u^{(n-4)} v^{(4)}$$

4!

$$y^5 = 4^5 e^{4x} \cdot x^5 + 5 \cdot 4^5 e^{4x} \cdot 3x^2 + \frac{5(5-1)4^{5-2} e^{4x} \cdot 6x}{2!} + \frac{5(5-1)(5-2)4^{5-3} e^{4x} \cdot 6}{3!}$$

$$y^5 = 4^5 e^{4x} \cdot x^5 + 5 \cdot 4^5 e^{4x} \cdot 3x^2 + 5 \cdot 4 \cdot 4^3 e^{4x} \cdot 6x + \frac{5(4)(3) \cdot 4^2 e^{4x} \cdot 6}{3 \times 2 \times 1}$$

$$y^5 = 4^5 e^{4x} \cdot x^5 + 5 \cdot 4^5 e^{4x} \cdot 3x^2 + 5 \cdot 2 \cdot 4^3 e^{4x} \cdot 6x + 5 \cdot 4 \cdot 3 \cdot 4^2 e^{4x} \cdot 6$$

$$y^5 = 1024 e^{4x} x^5 + 3840 x^2 e^{4x} + 3840 x e^{4x} + 960 e^{4x}$$

$$y^5 = 64 e^{4x} (16x^5 + 60x^2 + 60x + 15)$$

m.  $x^2 \frac{d^2 y}{dx^2} + 2xy' + y = 0 \quad \dots \quad (I)$

Show that:

$$x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + (n^2+1)y^n = 0$$

from eqn (I)

$$x^2 y'' + 2xy' + y = 0$$

for  $x^2 y'$

Let  $u = x^2 y''$

$$u = y'' \quad u^n = y^{n+2}$$

$$v = x^2 \quad v' = 2x \quad v'' = 2 \quad v''' = 0$$

$$u^n = u^{(n)} v^0 + n u^{(n-1)} v^1 + \frac{n(n-1) u^{(n-2)} v^2}{2!} + \frac{n(n-1)(n-2) u^{(n-3)} v^3}{3!}$$

$$= y^{n+2} \cdot x^2 + n y^{(n+1)} \cdot 2x + \frac{n(n-1) y^n \cdot 2}{2 \times 1} + 0$$

$$= x^2 y^{n+2} + 2x n y^{(n+1)} + n(n-1) y^n$$

for  $2xy'$

$$u = y' \quad u^n = y^{n+1}$$

$$v = x \quad v' = 1 \quad v'' = 0$$

$$w^n = v^n v + n v^{(n-1)} v' + n(n-1) v^{(n-2)} v''$$

$$w^n = x^{n+1} + n x^n + 0$$

$$w^n = x^{n+1} + n x^n$$

for  $w = y$

$$v = 1 \quad v' = 0$$

$$u = y \quad u^n = y^n$$

$$w^n = u^n v + n u^{(n-1)} v'$$

$$= y^n - 1 + 0 = y^n$$

$$y^n = 2xy^{(n+2)} + 2xny^{(n+1)} + n(n-1)y^n + xy^{(n+1)} + ny^n + y^n$$

$$y = 2xy^{(n+2)} + 2xny^{(n+1)} + xy^{(n+1)} + n(n-1)y^n + ny^n + y^n$$

$$2xy^{(n+2)} + (2xy + 2xn)y^{(n+1)} + (n - (n-1) + n + 1)$$

$$2xy^{(n+2)} + (2n+1)xy^{(n+1)} + (n^2+1)y^n = 0$$